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Factoring Practice
Example  Factor 4x" =3x-7

Solution: The first step is to multiply the first and last coefficients: (4)(-7)=-28. We
need the factors of -28 whose sum is -3. The factors of 28 are: 1 & 28,2 & 14, and 4 &
7. The factors needed are 4 & -7 (remember the sum must be -3). We now re-write the
middle term of the trinomial and factor by grouping:

45" —=3x=7
4 +4x-Tx-7
dx(x+1)=T(x+1)

(x+1)(4x=7)
1) 7Tm* +6m—1 2) 3k =10k +7
AT To? 1T =l —I -3k Tk 4+ 7
G- (  =Tmlmt ) 1D PC=21 Caek-t) —7¢k-1)
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3) 3n* —16n+20 4) 2r* +7r-30
AC=Co 2n*-10n ~ bn 120 A C=z¢o AP +12r-Sr =30
G:_" :V\(ZV\-[O)‘ 1(3%“(0) =7 ;1rCF+6)‘5(W+G)
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5) 5x* ~14x+8 6) 4x’ —4x 15 R
AC:L/o Gy*_ox - Hr t 3 AC = -¢0 “y® -0k + bx - 1S

_ - = (2K ~5) + 3(2x-5
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Factoring Practice (S hortek AC Mef Roé)

1) 7m* +6m -1 2) 3k 10k +7

A(_'? (—_7:.442 )(_7M-|\ c-21
A ! C3_I<-_53){3l<:7)

@ ((~+D -1 d ((k-1) k7))

3) 3n” —16n+20 4) 2r* +7r =30

= S1o) 3n-4)
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5) Sx’ —14x+8 6) 4x* —4x—15
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